
180

12

9 3

6

MONTAGEANLEITUNG//ASSEMBLY INSTRUCTION

Artikelnummer/ltem Number: N622P286732
N622P286733

Etagenbett   200x90cm

2 2

2 2











St cklisteü

Seite 1/12

01

02

03

04

05

06

07

05

06

07

11

12

13

15

14

17

18

20

23

24

23

24
25

25

26

27

27

28

28

28

29

08

08

09

09

10

16

19

30

21

22



N622P286732

Seite 2/12

Hardware-Liste N622P286732

x121

x115

x116

x114x208

x117 x122 x129

x206 x207

A

J

D

K x10H x16

M6x120 20mm

B x28 C x40

Φ8x30

x12

M6x70

x6

M6x25

Φ6x40

N x2

x12

M6x20

Φ6x60

M x24

F x4

M6x60

E x12

15mm

Φ4x40

G x8

L x4

M6x40 Φ3x30

P x30

R x2

Q x2

M6x35



Seite 3/12

N622P286733

x119

x101

x112 x113

x104

x111

x118

x227

x223

x209 x110

x328

x103x102 x205

x224

x225

x120

x126 x130



C 32Φ8x30

Seite 4/12

Schritt 1

25

x2

05

x2

06

07

x2

x2

10

11

12

13

16

14

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C



Seite 5/12

Schritt 2 C 4Φ8x30

Schritt 3

√

√

06

07

05

08

D 8M6x20

E 815mm

x2

C

C

D

D
D

D

E

E

E

E

F 2M6x60

F

√

√

A 12M6x70

B 12

01

02

03

04

A
A

A

B
B

B

06

07

05

A
A

A
B
B

B

A
A

A

B
B

B

06

07

05

A
A

A
B
B

B



Schritt 4

√

√

G 8Φ4x40

01

02

03

04

G

G

G

G

G

G

G

G05
0509

09

Schritt 5

√

D 4M6x20

E 415mm

D

D D

D

E

E E
E

EE

E

D

D D

15

16

17

15

16

17

Seite 6/12



Seite 7/12

Schritt 6

√

C 4Φ8x30

C

C

C
C

F 2M6x60

F

F

11

14

15

16

17

Schritt 7 B 16

H 16M6x120

01

02

03

04

H

H
H
H

B

B
B
B

H

H

H
H

B

B

B
B

H

H
H
H

H

H

H
H

B

B

B

B
B

01

H

H
H
H

B

B
B

B

14

16
11

10

12

13

14



Seite 8/12

Schritt 8 J 6M6x25

K 620mm

J

J

J

J

J

J

K

K

K

K

K

K

Q 2

Q

Q

18 30

19

20

17

21

22

10

12

13

15

16

Schritt 9

√
√

23

24

x2

M6x35



Seite 9/12

Schritt 10 M 6Φ6x60

23

23

24

24

25

25

26

M

M

M

M

M

M

√

Schritt 11 K 420mm

L 4M6x40

23

24

24

23

26

25

25

18

L

L

L

LK

K

K

K L

L

26

23

24

26

25

30

19

20

18

23

24

25

19



Seite 10/12

Schritt 12

√

M 12Φ6x60

27

27

28

28

28

M
M

M
M

M
M

M
M

M
M

M
M

Schritt 13

14

15

15

14

27

27

27

11

11

27

M 6Φ6x60

N 2Φ6x40

M
M

M

N

M
M

M

N

M
M

M

N



Seite 11/12

Schritt 14 30Φ3x30P

29

P
P

P
P

P
P

P
P

P
P

P
P

P

P
P

P
P

P
P



Seite 12/12


